
 ®    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

04/11
   ®

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

*  Cobra recommends you always  wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

4 – Bungee Knobs 
2 – Screws, M8 x 60mm Buttonhead 
2 – Screws, M8 x 65 mm Buttonhead 

Application(s) > 

 YAMAHA STRYKER    2011-2015 

Instruction Manual > 

1. Remove the stock front M8 screws retaining the chrome fender rail / fender on each side of the rear 

fender.  Replace these screws with two bungee knobs and supplied M8 x 65 mm buttonhead screws. 

Do not tighten the screws completely at this time.  The stock screws will not be reused. 

2. Remove the stock rear M8 screws retaining the chrome fender rail / fender on each side of the rear 

fender.  Replace these screws with two bungee knobs and supplied M8 x 60 mm buttonhead screws.  

Do not tighten the screws completely at this time.  The stock screws will not be reused. 

3. With all components aligned and installed tighten the buttonhead screws to factory specifications. 

 02-7270 

DOCUMENT NO.  0019 REV. B 



 ®    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

04/11
   ®

 

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and p lease ride safely.  

Items Supplied > 

4 – Bungee Knobs 
2 – Screws, M8 x 60 mm Buttonhead 
2 – Screws, M8 x 65 mm Buttonhead 

Application(s) > 

YAMAHA STRYKER    2011-2015 

Instruction Manual > 

1. Remove the stock front M8 screws retaining the chrome fender rail / fender on each side of the rear 

fender.  Replace these screws with two bungee knobs and supplied M8 x 65 mm buttonhead screws. 

Do not tighten the screws completely at this time.  The stock screws will not be reused. 

2. Remove the stock rear M8 screws retaining the chrome fender rail / fender on each side of the rear 

fender.  Replace these screws with two bungee knobs and supplied M8 x 60 mm buttonhead screws.  

Do not tighten the screws completely at this time.  The stock screws will not be reused. 

3. With all components aligned and installed tighten the buttonhead screws to factory specifications. 

 02-7270 

DOCUMENT NO.  0019 REV. A 


